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     EXCEL CIVILS ACADEMY 
DAILY CURRENT AFFAIRS 

                                                          Date: 01-11-2021 

 

1. Anaemia is caused due to the deficiency of: 

a) Oxygen                                     b) Iron                            c) Sulphur                          d) Calcium  

 

2. Which of the following groups, represents neighboring countries of Argentina? 

a) Peru, Chile, Uruguay and Bolivia 

b) Paraguay, Peru, Chile and Uruguay 

c) Chile, Brazil, Uruguay and Peru 

d) Brazil, Bolivia, Paraguay and Chile  

 

3. Which of the following statements correctly explains the impact of Industrial Revolution on India 

during the first half of the nineteenth century? 

a) Indian handicrafts were ruined. 

b) Machines were introduced in the Indian textile industry in large numbers. 

c) Railway lines were laid in many parts of the country. 

d) Heavy duties were imposed on the imports of British Manufactures. 

 

4. Africa’s Sahel region includes which of the following countries? 

1. Senegal 

2. Mali 

3. Eritrea 

4. Chad 

Select the correct statements 

a) 1, 2 and 3                             b) 2, 3 and 4                            c) 1, 3 and 4                  d) 1, 2, 3 and 4 

 

5. Recently, Startup India International Summit was held in New Delhi which saw the participation of 

members of BIMSTEC (Bay of Bengal Initiative for Multi-Sectoral Technical and Economic 

Cooperation) countries, under the event name – 

a) Super Start Asia-100 

b) Operation Arambh 

c) Operation SECURE 

d) Prarambh 
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6. Which of the following islands are part of the South China Sea? 

1) Spartly islands 

2) Natuna island 

3) Senkaku islands 

4) Paracel islands 

Select the correct answer using the codes given below: 

a) 1 and 2 only 

b) 1, 3 and 4 only 

c) 1, 2 and 4 only 

d) 1, 2, 3 and 4 

 

7. India is a member of which of the following? 

1) Organisation for Economic Co-operation and Development 

2) Financial Action Task Force on Money Laundering 

3) Asia-Pacific Economic Cooperation 

Choose the correct answer: 

a) 1 and 2                          b) 2 and 3                                   c) 2 only                                  d) 1 only 

 

8. Which of the following best describes ‘MITRA SHAKTI’? 

a) It is a bilateral army exercise between India and Nepal. 

b) It is a trilateral naval exercise between India, Mauritius and Seychelles. 

c) It is a trilateral army exercise between India, Sri Lanka and Seychelles. 

d) It is a bilateral army exercise between India and Sri Lanka. 

 

9. The term ‘Allium negianum’, recently seen in the news, refers to? 

a) A newly discovered crater on the lunar surface. 

b) A medicine developed for the treatment of Covid infection. 

c) A rare animal species sighted in Western Ghats endemic to Himalayan ecosystem. 

d) A newly discovered onion species from Uttarakhand having various medicinal utilities 

 

10. The Gandhi-Irwin pact included which of the following? 

1) Invitation of Congress to participate in the Round Table Conference 

2) Withdrawal of Ordinances promulgated in connection with the Civil Disobedience Movement 

3) Acceptance of Gandhiji’s suggestion for enquiry into police excesses 

4) Release of only those prisoners who were not charged with violence 

Select the correct answer using the code given below: 
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a) 1 only                            b) 1, 2 and 4 only                        c) 3 only                         d) 2, 3 and 4 only 

 


